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8. K2CO3+2HCl=2KCl+CO2[image: image2.png]
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2K+CO3 +2H+2Cl =2K+2Cl+CO2[image: image4.png]
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9. в) – 89,5%

Дано: 

3Mg+2P=Mg3P2       
m(Mg)=2,4г 

m(Mg3P2)=4г
x=[image: image8.png]




W(виходу) - ? 
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10. б) – 0,56л 
Дано:
m(BaCO3)=24,6г

m(BaCO3)=24,6[image: image12.png]


0,2=4,92г

W(BaCO3)=20%

      4,92г               8,6г                               хл
m(HCl)=8,6г

ВаСО3 + 2НСl = BaCl2 + CO2 [image: image14.png]
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3) : 𝜈(HCl) = 1 : 2
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3) : 𝜈(HCl) = 0,025 : 0,118

𝜈 = 𝜈m[image: image28.png]


𝜈
(CO2) = 22,4л/моль [image: image30.png]


 0,025 моль = 0,56л.
